ORDER OF MATH OPERATIONS WITH NUMBERS -20 TO 20 (E-4)
CHALLENGE

Name:

Time: Score:

449)

S5Xx0+(=2)+(6x0+(=7)+(-9) +12+(9x8) =

450)

(5 — (—11)) = 4) = 14+ (=3) — (0= 9= 8))) +2x 2 =

451)

(9+9+(2—10)4+6)+ ((1 x 10 x (60 +6) + 10)) =

452)

(1I8—=17T—(0+8+2440)x 10 x (=2)+(2—12)) =

453)

0= (=4)x(((2=9)+(=2))+((B81=(=9)+1)+19—-16) =

454)

T+ (=T)+ (T2 +8)+((9+ (=8)) =4 x ((12+2+(=7)))) =

455)

12—0x10+(((24+(=2)—(—=2)—2)+(=3))) x4+ 16 =

456)

(0= (=8) = 7= T+20+ (—12) — (36 = 9)) + (5 — (—6)) =
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